
’ Reversfble Reachions 
it is a protess 
the 

Ex. 

DDynarte Eauilibefum 

when the 

produes torm back the 

Chemical Equilibria 

where 

Yate and e 

unchenged 

closed sysrem, a reversible reucton reahes 
ba ckwrcl recchons forward an 

s Concentration 

’ factors atfec tin� qil 

reactants rmprodoe ts ond sinmulraneoosl4 

Concentrahons 

equilibri 

Concera tioy of 

Shifts to riqht nnd 

reactan ts 

bothYeactans 

denamie eg uili bris 

Vice versa" 

at e sane 

and pne ducts remain 

L-H-Sis inereaseod, the equili brios 



Ex 

Pressure (omliy ohen laaseolUS state) 

So ! 

it 

incr tase in 
decrease 

as 

4mdes 

pre ssure J 

Temperathure 

to tind 

pressure tevors side 

pressure T equilibrjum shtts o right 

ressure 

DEquilibum Constant Ke 

2r0M3(9) 

equi lli brius shits to left 

temprature inveases 

as teperature decr eases 

Solíds and 

favors side 

2moles 

Concenrahon uGe 

Ex. a A cs) t 

Pure 
in te ezpre ssian ony cg 

we ill not re 

are 

It ke <I tern reactoants qre nore 

Temp atfects the value 

C n 

mor e 

liguids cdont have 

it favors Hhe endoth exnic side 

wih 

ond 

less no: 

DATL 

mere no. 

mecans concentn ton 

Copounel 

ikaly to be 

Coneentra hon 

orned 

SO t js not cloded 

are included 

A D (a) 

A because it is în solid sta te. 



Equiisri Constant 

Mol raho 

melrathon 

Note total 

can be 

Questions 

pre suYC 

3 

ound in 
only temperabre ottects te value at ke 

’concentra hon 

the eyuilibriu. 

ot reactants 

cons tant 

2 

Cal culate Keand state îts 

Note: 

State 2 teatres a reachon dhet is Pn 

o.3+a3 

= O.65 

stte 

Rate ot oroard reaction is eual to rate a backuwavd rea cha 

PAGE No. 

p parHal pressure 

reachon s -

onits 

DATE 

o-65 

duynamaie eyyitibrls 

707. ot C, Ca has reacte 

pl O.3 Dxj 

constant 

2 

e tractiont o,: 6.8$Ke o35/o.c5) x Ixy |.53%15 
Pa 



Q2. 

when (:6 

O.Goo ml Cl, cnel 

te totel pressore inside 

AHCI 

Calculate the amUnts 

total 

Calculate the Mole 

Ht 

strong 

mol o MC are mixec wth os mol ot D, at hooCi 

weak 

(-8 

Acid- base equitibria 
acid is 

0.5 

CHsGooH 
Arid 

it can donate 

s base is a proton aceephor (n) 

Conjuaate base and acid. 

600 mol ot 

a proton donor (n) 

fe Cantainer is -sx5 Pen 

ractn and hece the par hiel pressure at cls 

par tal pressufe d cly t lSxi6S 

an amphoteric sobs ten ce can be 

M,O are 

in mol XCL ond O, in e equiibrion 

ccicl and base lissociate ully 

acrd anc 

buse 

base dis Soate parHaly 

formd 

Conjgate acid base pair. 

Conjugate 
base 

both acidic and allkaline r, 

atter dona'ng 

Can qain 

O2 ol 

t so base 

50000 Pa 

Conjvgate acid 
becuse tter ecie viag 

now 
Cgndong 



base 

Hao 
acid conjgat 

acid 

+ 

conjugate 
baee 


